HE S\ R8O BERER 1/2)
T f Bl Bl v AL |HEDERRYE | SREEH L) W =
BEREERE T
+ T B 1.0
$RE T Y ANRIE m3 46. 4 50
Temus |1l 3 18.8 20
BT Bt INRAEE mﬁ 18.8 20
A5y i m3 48.8 50
Ty 7 EBEEET = 1.0
LT R 4E L& m3 15.4 20
#OR D m3 9.8 10
HEEEIE 1w m2 9.8 | 10
7a 7 FifERE
B vy 7 |$%36cm m2 41.1 41
BAavs)-}  [18N/mm2 t=10cm | m3 4.1 4
HR3Aav7) -t | 18N/mm2 m3 9.0 9
AR RC-40 m3 15.5 16
H i m2 18.6 20
R FEHHBH 1L 48[ 300 X 300 58 6.0 6
AKEEASAT VU 150 m 3.0 -3
Kiwavy)-h m 13.4 13
A ) m 13. 4 13
T #35cm t=10cm in 13. 4 13
18/hMIET |3, Om=H<5. Om | f8FF 1.0 1
25/hOlT (3. 0m<H<5.0m | fEiFF 1.0 1
TR BEARE m2 6.9 7
FLAREA RC-40 m3 3.2 3
HEK T X 1.0
fAlFET KF150 m 12. 6 13
kBT % L Z30300m Elzil 2.0 2|1v9)-13% |




8 J\IR80EHF HWERER (2/2)
T B B #H OB BE(y |BHBLERBEE | RREEH L) M =
HiEYEET = 1.0
MEEHREET |avI-tERE L m3 6.6 7
vy - MRE m 11.7 12
ZAEBUEL |t=30ck m3 12.8 13
FOEWE - ALsy  |3vy)-bER m3 6.6 7
SHEE T = 1.0
a7 U— bk
avy)=} 18N/mm2 t=10cm | m2 54. 3 54
s RC-40 t=15cm m2 54. 8 55
ML = 1.0
RlEEavsY-b  [18N/mm2 t=7cm | m2 6.6 7
KI2/70-F  |18N/mm2 m 15.3 15
7 xR H=600 m 0.7 1




T & B o &K
¥ £ + e B+
AN = 46.4 e AN s, 18. 8
fEH TEMRER NAK = 18. 8
18.8 /0.9 =20.9

i &1 & 5 Y » -V

" 4 & F 18. 8]

K # L2 §

7oy 7 (L) = 15.4 Zay 78 . (D) 9.8
) s = 154 2097109 i m e 0.8
L mimy |
L8 : V=65.2—20.9+15. 4-10. 9 48,8 (m3)




e — T HBEER
THE el xR BAAT & =
Ol R A R m3 46, 4

e TERER IERE m3 18. 8
B x &t {/INRAR m3 18.8




HE - + T (EED B EFEE
W& e R /MR fRE TEAER MRS
c5 ) | Srff | Ch-1 EH | ST
0.0 0.0 — —
NO. 0-1. 3 1.6 0.7 0.35 0.6
NO. 0 1.2 3.0 1.85 2.2
NO. 0+3. 0 3.0 3.1 3.05 9,2
NO. 0+5. 0 2.0 2.8 2.95 5.9
NO. 0+8. 0 3.0 3.1 2.95 8.9
NO. 0+14. 0 6.0 2.6 2.85| 17.1
1.9 0.0 1.30 2.5
NO. 0 0.0 1.0 — —
NO. 0+3. 0 3.0 1.3 1.15 3.5
NO. 0+5. 0 2.0 1.4 1.35 2.7
NO. 0+8. 0 3.0 1.4 1. 40 4.2
NO. 0+14.0 6.0 1.4 1. 40 8.4
&&t 46.4 18.8




HE — + I (&) BEFHEE
R
B5 LYy | PR
NO. 0 0.0 1.0 - -
NO. 0+3. 0 3.0 1.3 1.15 3.5
NO. 0+5. 0 2.0 1.4 1.35 2.7
NO. 0+8. O 3.0 1.4 1.40 4 2
NO. 0+14. 0 6.0 1.4 1.40 8.4
A5 18. 8




B - % vy 7 FERERET BEESE
I iball ki Biir & #%
fEELT
R +wp m3 15. 4
# B D m3 5.8
FEEEIE A n2 9.8
7oy 7 iR
- P #e35cm m2 41.1
HiAzrzU—} 18N/mm2  t=10cm m3 4.1
A2 U —h 18N/mm2 m3 9.0
HiAwA RC-40 m3 15. 5
EHEER n2 18.6
RV S - 300X 300 # 6.0
Kg3A T VU ¢ 150 m 3.0
Rifa 7 J—1 m 13.4
=27 V—} m 13.4
AT #230cm _ t=10cm m 13. 4
18/pRET 3. Om=H¢5. Om il 1.0
25/ BT 3. Om=H<5. Om 515 1.0
HRATH
e ¢ 35cm PS5t m2 6.9
BOARRR RC-40 m3 3.2




HE - e+ T (T v v 7 HEEEE) M ESESE
E(SE) | Y% | SFFd Fu(D) | 8y | SCH% |K(SE) | F8 | mH
NO. 0 0.o| 1.1 | — | — 0.7 — | — 1 07| — | —
NO. 043. 0 3.0 1.1 ] 1.10f 3.3 0.7 0.70, 2.1l 0.7 ] 0.70; 2.1
NO, 0+5. 0 2.0 1.1 1.10] 2.2 0.7 | 0.70| 1.4 0.7 | 0.70] 1.4
NO, 0-+8. 0 3.0 1.1 1.10] 3.3 0.7 0.70] 2.1 0.7 | o0.70] 2.1
NO. 0+14. 0 6.0 1.1 ] 1.10] 6.6 0.7 0.70| 4.2] 0.7 | 0.70] 4.2
X1 14. 0 15. 4 9.8 9.8




HE - = 7u 7 TR BEHESE
1:0.4 H=13/:¢=100
ws H |\ m ki A HiAeR HEERY
BE OFY | mhE | Win | P | R | R | P | EE
NO. 0 2, 67 —| 2,77 — -— Lo — — 1.3 — —
NO. 0+3. 0 2. 89 2.70] 3.00| 2.885 7.8  1.1i  1.05 2.8] 1.4 1.35 3.6
NO. 0+5. 0 3. 00 2.00| 3.12| 3.060 6.1] 1.2 1.15 2.3 1.4/ 1.40 2.8
NO. 0+8. 0 3. 00 3.00[ 3.12] 3.120 9.4 1.2] 1.20 3.6 1.4] 1,40 4.2
NO. 0+14. 0 3,00 5.70 3.12| 3.120| 17.8] 1.2| 1.20 6.8 1.4 1.40 8.0
&t 13. 40 41.1 15.5 18. 6
BAavy)-b:v=| 41.1 X 0.10=__ 4,1
RRiAz/70-b:V=| 41.1 X 0.22= 9,0
KIEE A FRBER:A=]41.1-13.4X0.32=  36.8
REEE A TREGEFTEN=] 36.8/7.0= 6.0
AikE A TEHE L=16X0.45X1.077= 3.0
bR B L HERR BB R A i N= = 6.0
Eiavy)-p:L= = 13.4
ay))-) L= = 134
ERT:L= = 13.4
18/hBIET N= 1.0
ayyy—h:v=| 0.9
(R : A= 1.0
—RREM - A= 5.7
28/NAIET N= 1.0
g Y—hb V= 1.0
{ERERI : A= 1.1
— AR . A= 6.5




B — A HEFHEE
B A i TRA T BARR

BE | EY | i | Wi | Y i

0. 00 — —t 0.0 — _—

0.7 | 3.12 1.56 1.1] 1.4 0.70 0.5

NO. 0 0.5 | 3.31 3.22 1.6] 1.5 1. 45 0.7
NO. 0+14, 0 3. 66 — — 1.8 — —

0.5 | 3.42 3.54 1.8] 16| -1.70 0.9

1.4 0.00 1.71 2.4 0.0 0, 80 1.1

&t 3.1 6.9 3.2

10



g —

® Kigzm 7 J—h HirHEHEE
a4y y—4p
18N/m2  \ 485
g‘“ ‘
=] A [l
S 7 n
R w8) H——r————-
~~350 /
/ /"‘/ >/
/ // 7/
/
TR L= 13. 4 {(m)
10m24 1
& WO R Bir| & | EE | &&
227U —hk | 18N/mm2 |0.485X0, 10X 10. 00 m3 | 0.485] 13.4 0.6
B AbEERI#e 0. 108X 10. 00 m2 | 1.080] 13.4 1.4
—RAIH: 10. 108X 10. 00 m2 | 1.080] 13.4 1.4

11



HE — % a7 ) — b BT EHEE
avoij—4F
18N/mm2
—,———— .
A . - -‘
,-;-/ ) S —/r—————'
/L%/ >/
o ~/
/
/
_ /
IEE L= 13.4 (m)
10m34 v
% W OB ' R i #E& | 2R | &
2y 2 Y—k | 18N/mm2 |1/2X0.35X0. 14X 10. 00 m3 | 0.245| 13.4] 0.3
N — eI 0. 14%10. 00 n2 | 1.400] 13.4] 1.9

12



13

HE — & BT B HEFESE
10
> /
vy y—t / /
18N/mm2 .~ \ / ///
2 | 00
B FR (RC-40)
100 520 fog
720
EE : L= 13.4 (m)
10m4 ¥
4 W OB #HER Bir| #E | EE | &
avrU—t | 18/m2 gﬁz§1m+a5mxa2&mexa1m
m3 | 1.140] 13.4 1.5
B o —EAEE | (0. 30+0. 10) X 10. 00 m2 | 4.000] 13.4 5.4
RC-40
AR =100  [0.72X10.00 m2 | 7.200] 13.4 9.6




BHE - & 15/hHIET B HBHEE
aro)—F
20 18N/mm2
485
EFF  N= 1.0 (F&FD
1Y

A RO FER B ¥E | E5F | B8
2y J— k| 18N/mm2 | (0. 485X 0. 25+ (0. 833+1. 115) /2 X 2. 820) X0. 30| m3 0. 860 1.0 0.9
w EpERLE: |3. 306X0. 30 m2 | 0.992 1.0/ 1.0
— e | (0. 485X 0. 25+ (0. 833+1. 115) /2 X 2. 820) X2 m2 | 5.736 1.0 5.7

14



B - % 28/NOIET B EHEE
gg_ﬂ_
AT : N= 1.0 (f&FT
G

4 PR HO® #FHEX Hir| #&E | @ | K&
27 U—k | 18N/mm2 | (0. 4850, 25+ (0. 833-+1. 148) /2X 3. 150) X0. 30| m3 0.972 1.0 1.0
7l e {LBEREHE 13.662X0. 30 m2 | 1.099 1.o] 1.1
—ARAE | (0. 4850, 25+ (0. 833+1, 148) /2 X 3. 150) X 2 m2 | 6.483 1.0 6.5

15



At

A BEATRERERILE

H=2937

H=3400

S=1:100

H=23070

NO.0+14.0 - NO.0+14. 5

A=1, 6m2

A=1, 8m2

16



HE - X PekEEm L BEEFR
THE 5] B BAT %E (i
T
KF150 m 12. 6
£FLARPEL
¥ L0300 131 2.0 |22 V—t+&

17



18

e - & PEARBEYT () E R G H B
KF150 ‘
H_ A MR e
NO. 0-0. 5
NO. 0 0.5
NO. 0+3. 0 2.8
NO. 0+5. 0
NO. 048, 0 2.8
NO. 0+14. 0 6.0
NO. 0+14. 5 0.5
&5t 12.6 | (L=2. 0m}




19

BE - %

PeAHEE T (FRk)

#EFREF

fEkHE (95 LEF3008))

b Y 31 ()
NO. 0+3. 0 1.0 |avy)-}3
NO. 0+5. 0 1.0 |avy)-t3s

=i 2.0




HE - & KF150 BN HEHEE
210
30/,150,]30
220
JEE L= 12.6 (m
10n¥4 »
£ 7S - B Hifir| #E | EE #E
FL%ex Mg | KF150 |10, 00/2. 00 & 5, 000 12.6 6.3
e L B L 1:3  [0.120X0.03X10. 00 n3 0. 036 12.6| 0.045
RC-40
ERHR =100  |0. 220X 10. 00 n2 2. 200 12.6 2.8

20



HE - & 27kt (F LEN300HY) BigEstEE
FEE
410
35 300 55
vy Y—r 8
335
fIEE
419 I-—————*]“s
Sy U—r&E s 300 55 SL%vR h# ‘
(30081 ) / R L%t 3008 ¢ ! '
AN
. /
g N f
| || E®mazsy—1
I ||/ 18N/m2
=} 5
g ) WHH N= 2.0 (P
ﬁﬂ‘:ﬁ 50 360 50
I 460
1P Y
Z T R - FER Hir| &8 | @7 | K&
% Lt
TVERYAMA | Togom @ | 1.000] 2.0f 2.0
gz y—k | 18N/mm2 [0. 30 X 0. 30X 0. 07 m3 | 0.006] 2.0} 0.012
RC—40
R =100 |0. 46 X0. 46 m2 | 0.212| 2.0| 0.4
=y y—r& | 300BA # | 1.000] 2.0/ 2.0

21



2y Y- M B

e - & BEwsET MEBEERHE
TH ) 1R {7 i B
B RET

a7 J—FEREL m3 6.6
=7 J— MNIEr m 11.7
2e FREEE L £=30cm nZ 42.5

_ m3 12. 8

m3 6.6

22



#E — BEWREL L EREHESE
oA g L =7 V—bEURL =2y ) — by
CCo} | ¥y | mfH ER
0.0 0.0 — —
NO. 0-1.3 1.6 4.4 2. 20 3.5 3.4
NO. 0 1.2 5.4 4.90 5.9 4.0
NO. 0+3. 0 3.0 4.2 4.80]  14.4 2.7
NO. 0+5. 0 2.0 3.3 3.75 7.5
1.6 2.9 3.10 5.0
0.0 4.1 — —
NO. 0+8. 0 1.4 3.8 3.95 5.5
NO. 0+14. 0 6.0 2.6 3.200  19.2 1.6
0.5 2.3 2.45 1.2
0.7 1.8 2.05 1.4
&Ft 63. 6|m2
63.6 X0, 10= 6. 4|m3
GEESERLD 0. 2[m3
il 6. 6|m3
6.6 |x2.35={ 15.5|t 11.7

23



B — ® HEHEE L HEESE
oA At e
W(st) | EE | g
NO. 0-1.3 0.0| 0.0
NO. 0 1.2 25| 125 15
NO. 0+3.0 - 3.0 27| 260 7.8
NO. 0+5. 0 2.0 | 27| 27| 5.4
NO. 0+8. 0 3.0| 29| 2.8 84
NO. 0+14. 0 6.0 27| =2.80 16.8
Lo| 00| 1.35 2.6
42. 5|m2
=X 42.5 |X0.30=] 12.8|m3

24



2b

HE - % &G EEE L T EEHEE
KF150 £kt Bl Z UV —bMREL
R HER EE ] &30 = B A LR 5%
NO. 0-0. 5 NO. 0-0.5
NO. 0 0.5 NO, 0 0.5
NO. 0+3, 0 2.8 NO. 0+3. 0 1.0 NO. 0+3. 0 3.0
NO. 0+5. 0 NO. 0+5. 0 1.0
NO. 0+8. 0 2.8
NO. 0+14. 0 6.0
NO. 0+14. 5 0.5
et 12. 6 [ (L=2. Om) &8 2.0 &&t 3.5




BHE - &k BEDEEL

BEAUBEHESE

3007 WMo —§
¥EE T 200
410
155, 200 55 i
C 1=
8 arvsy—rE
‘ IEE : L= 3.5 (m)
3| 8 KF150
210
B g U : 30| 150 {30
JLExrZ FAHR
(KF150)
e
410
avsu—+¥ g 300 85|  SLxez b 336 S
Goomm  \| LA 300 Rl @
\ 335 ) 1 —
30(7 ''''' i g | | KIRECR OB KRS0 258 55
o ( ER : L= 12.6 (m)
Jl E 18N/mm2
o g
g ,X///////// T SRR D A BR300 £ TR T 5
= 4 :
/ &P : N= 2.0 (@)
rarae |5° w ayry—pZ:N= 2.0 (O
& B (B B HEN Hifr| &g EE/aEF O BE
EfE=L 2 U —F 0.20X0, 07 m3 | 0.014 3.5 0. 05
0. 05X 2, 350 kg 117.5
FukxA bk | KFI60 |MEAM D ER(GY S w22 L 1)52ke/ 8 (L=2. Om) 10m% ‘
52.0/2X10.0 ke | 260.0 | 12.6 327.6
Flxe R M 300 (MAMVEBRIF oS LY)o1kes/(H 1{EFTFY Y
51.0X1 | ke | 510 2.0 102.0
ayz U— b2 300BA MYV EREGM e LD)%ke/K R
9.0X1 ke 9.0 2.0 18.0
&8t 117. 5+327. 6+102. 0+18. 0 ke 565. 1
565. 1/2, 350 n3 0. 240

26



b=
[aN

[ AL |

¥ £3°5LL e

61 w
NO% \.\\\\\
3 \
vy 5 . ~ \
] 5 _ N
0 ZT % 91
es
NT
oLl
o1 EEeFEEE Lo N u




REEHE

3HE - & M ¥ T
THi gl A Bify Ha =
oy U— Mgk
C|mr sz U—F 18N/mm2  t=10cm m2 54.3
s m2 54.8

RC-40 t=15cm

28



BE - M OE T HEFREE
W e ay7 J—F B
Wl ¥ |\ W2 | R

0.0 ] 0.00 — — 0.00 — —
NO. 0-1. 3 1.6 | 4.39 2. 20 3.5 4.39 | 2.200 3.5
NO. 0 1.2 | 4.82 4. 61 5.5| 4.86 | 4.630 5.6
NO. 0 0.0 | 4.70 — —| 4.74 -— -—
NO. 0+3. 0 3.0 | 3.49 4.10] 12.3| 3.53 | 4.140] 12.4
NO. 0+5. 0 2.0 ] 2.57 3.03 6.1 2.61 | 3.070 6.1
1.6 | 2.24 2. 41 3.9] 2.28 | 2.450 3.9
0.0 | 3.42 — —| 3.46 — —
NO. 0+8. 0 1.4 ] 3.10 3.26 4.6| 8.14 | 3.300 4.6
NO. 0+14. 0 6.0 | 1.94 2.52| 151 1.98 | 2.560| 15.4
NO. 0+14. 0 1.5 | 2.40 2.17 3.3| 2.44 | 2.210 3.3
&t 54.3 54.8

29



HE - # oy ) — A BEfr#EHEE
W
y, Sp
avsy—p /L —
18N/mm2
i
(75 wirve—=3 1 RC-40)
2y Y— NERE A= 54.3 (m2)
KARTGHE - A=  54.8 (m2)
10m23Y4 0
4 B O% FHE Hfr| HE | @F | K&
v Y—F | 18N/mm2 0. 10X WX 10. 00 m3 | 1.000] 54.3 5.4
13 94~T/RC-
B 40 t=15cm |WX10. 00 n2 | 10.000| 54.8/ 54.8

30



31

B9
L3
s9°cLt

09

001 1=8 [RFETWEH

D P ———— e =

[

5E'SLL %

Tl




HE - HET BELEHR
THE AR5 Bk i B ik
HET
Mo 20 —F 18N/mm2  t=Tcm m2 6.6
Klar s Y —} 18N/mm2 m 15.3
T xR H=600 m 0.7

32



e — MET BEEFESE
A A B fMagav2)-h ARGJavyy-p TR
W3 SER) | EEE JEE ER
NO. 0-0. 5 0.0 0.5 — -—
NO. 0 0.5 0.5 0. 50 0.3
NO. 0+3. 0 3.0 0.7 0. 60 1.8
0.6 0.6 0. 65 0.4

NO. 0+5. 0 0.0 0.3 0.45 0.0 0.7
NO. 0+8. 0 3.0 0.4 0.35 1.1
NO. 0+14. 0 6.0 0.5 0.45 2.7
NO. 0+14. 5 0.5 0.5 0. 50 0.3
NO. 0-1.3 0.0
NO. 0 1.3 1.3
NO. 0+3. 0 3.0 3.0
NO. 0+5. 0 2.0 2.0
NO. 0+8, 0 3.0 3.0
NO. 0+14. 0 6.0 6.0

&8t 6.6 15.3 0.7

33



HE - % fggar 2z U—h BB EE
I—ﬁ
. |\:! o Y—Fk
18N/mm2
i A= 6.6 (m2)
10m234 b
& FF O R H{r| #E | @ | &&
ayy J—h 18N/mm2 (0. 07X 10. 00 mn3 0. 700 6.6 0.5

34



HE - % yi SIS AR BEUBEHEE
avyy—t 1%
18N/mm2
ot 3 \
o = | ———— e ——
i e
£LBI13 (=150 // \\7// /____
/ / /
/
ER L= 15.3 (m
10m¥ Y
& W OB EC XN BT HE | ER | ¥5E
a2y U—b | 18N/mm2 |0. 10X0.10X10. 00 m3 | 0.100] 15.3 0.2
. s —AREN: | (0. 10+0. 10) X 10. 00 m2 | 2.000) 15.3] 3.1
B L=?égmm 172 Y B H0. 15X 0. 995=0. 149ke/A
10. 0/0. 5=2074 ke | 2.980| 15.3 4.6

20. 0X0. 149=2. 980

35



BE - & 7 xR BNEREHEE
T VAT ﬁﬁf BE FIUR(TIER)
. |
M ]
A 5\
\gﬁﬁa:wu—wuw \BERaLvIU—+TOVY
{195 x 395 x 100) (185 x 395 x 100)
|
o ] | |
=] [§] 13 [§] (@) ] 0O -
A | b ]
0 HEE: L= 0.7 (w
& T # OB FHEN Bfr| BE | ER | BE
7z VR H=600 n 0.7 0.7
W 1w 2 | 195x395%100(0. 40 X 0. 70 m2 0.3

36



#h

7K

=

il

B I



00% 3% 007 61 000°E (FTEL)
00%23 00%'61 000°¢ (TS}
0v'ee I {0 S L)WOGT=ph |4~/ 2E Bl
GiERIe fon
T £ T AT
L E 1 G2 ¢ [T A —3
£ [ 2 1 62 ¢ |4 AOW
Z i} 1 1 G ST ¢ | LAxXH
1 & 1 (SLEL? XST P lr—£IH
8 Bl 9 z SD) 5z ¢ [ader=IH
£ E} € (51) 62 ¢ [N~44~IH
z Gk 2 FFACESE S ¢ | SRt B
007 8¢ ™ 00¥'61 000°¢ Gg ¢ | Z =V
. dATH
5z ¢ dATH
. : P
[EEY) @) Tl | ER Th BERE | BE | THE | BE | O0AE | B% | ZAm | B | EAE T (U YR W %
BEES. | FEI® £ & N St 2 2 E gREg g gy | ”

(62 S SUH




+THBREHE LIT@ BEBE LY 6 25
il S TRET T
WRES " | w | e |
B EEL BRI 14.800 0.00 | 0.00 |
HkE 925
AL
& w—% g
I N
500 N HIvP @25
TH ik-tik B B 285 B
RIERE T A2k (0.60 X 0.28-0.001) X 14.80 2471 m3
& M 14.80 0.00
HEH LD h= Z(lshm) EL = 0,00 m
BHIE: 0.60 m
H: m
hl: m
h2: m
FHIE: 0.03 m
FUFEM: 0000 m2







- T &

+T@ Coflis ¢ 13 ‘

- BE B [ cEdew [ tam)
wiERE i
il (L) () (hm} Lt
I 0.30
SEATERRRI 1.550) 030 [ 030 1.37
e e e HIKE P13
R R S R R B oE ERL
= ] [
. SR AEEURS) IOV (RN o 3P )=k {gck=18N/mm)
- e e B P Rt SHLE I IR | 825w i~ L (RE-40)
i SRy e i ol - ‘8__ /,"//'/i‘\\' _§
- SR R SR — i SL c =
o . N N gg“ | i _ —_
D i o s MR b R R
— . . [
] ) _ | gog | HIvReI3
LA Nadht i at Bk W | N
) - Ca
Al LN T t=10cm 1.00 X 2 % 4,55 9210 m
Co
fingEIRAE T 1=10em 0.60 % 4.55 % 0,10 027 m3
BH 0.10m3
SERNTEAT |t 0.60 X 0,32 X 4.55 087 m3
HiginE T oAb (0,60 % 0,17-0.000) x 4.55 046 | m3
RN E T Fd ok 0.60 X 0.00 % 4.55 0.00] m3
DI e—3
iR T RG-40 t=15¢cm [0.60X4.55 273 | m2
A —p
{R T t=10cm 0.60 % 4.55 273 m2
. |miamT i 0.87-(0.00--0.9) 087 | ma3
BT Cofl 0271 m3
i ) ) BRI S+ 087 m3
I R N N T % Asid 0.27%2.35 063 [ t
& 1t 455 1.37
E LY h= S(Lshm)/ZL = 0.30 m
010 0.60 m
H: 0.42
kl: 0.32 m
h2: 0.00 m
WHE: 0.02
AF I 0,000 1n2




+TEEEHE IO Ktk ¢ 25
AEEE iE BE 450 | Tt Lhm
(L) {h) (hm)
HRLRERR 0.40
2.300 G.40 0.40 0,92
HBKE D25
w o ERL
] | —
|
ds St 8
-t
@ ] rcix - gﬁl 2
_?\_\ o
600 . HIVP$ 25
THE TR LB yE | B
BH 0.10m3
wEMEAT SRt 0.60 % 0.53 X 2.30 073 m3
HMBIERT 4 Ak (0,60 % 0.33-0.001) % 2,30 045] m3
WHERT L loB0%0.20%2.30 028| m3
FLNET i fan |0.73-(0.28 0.9} 042 m3
Bioss 0 1REL 042 | m3
& 4 2.30 0,92
T tEn h= S(sm)/EL = 040m
BEE: 0.60 m
H: 353 m
hl: 0.53 m
h2: 0,20 m
EHE: 003 m
EHFEAK:  0.001 m2




RS 050
H: 053 m
Il 43 an
h2: 0.00 m
Tt 0.03 m
IR 0.001 m2

TTHERFME LI@ Cofilidk ¢ 25
Al 5 BE FE | L¥EY [wembme
i w | o | aw |2
R T 1
ST AR 30001 040 odo | 120
0,40 o'
WMELARRE | 0| 0.0 | o04v | 032 %7.]( = _2_5
0d0| B £ OH BEL
WFLMGIGH | 1soa| 040 | 040 [ 0.0 =1 | ==
o S P O R A v A2 U=k {ock=18N/mm)
— e e IR - s | ‘ 55y v—3 > (RE-40)
T s BRI et et By =] WP RRNAR —&
- —_— — SR JE — Py i <
e o i B 2 g |! L = =
I B I SR B _Igm =8§=§
I - . S . ! AN
. — — e - —— — - s o ama \ .
B} ) - 3 oo | HlPezs
- ik Ttk Y B fit U {i
i Co
Bl T t=10em 1.00 % 2 X 5,30 1060 m
Co
MR T t=10cm 0.60 % 5.30 % 0.10 032 | m3
BH 0.10m3
BEmAEAT [ 0.60 % 0.43 x 5,30 137 m3
WiRE T Ak (0,60 % 0.28~0.001) X 5.30 089 ma
) GIE T S+ 0,60 % 0.00 % 5.30 000 m3
DSy e—S,
YT RC-40 t=15cm [0.60 % 5,30 18| m2
AV )~k
|\ Coffifk T t=10cm 0.60 % 5,30 318 m2
PR T 4 1.37-(0.00+0.9) 137 _m3
0 ImtmmT Cod 032 m3
B T Btasy Skt 137 | m3
’ B nsy Ast 0,32 % 2,35 ors| ¢
& B 530 212
T340 h= E(l#hm),/ ZL = 0.0 m




H

g 180 250 26T @& T | =™
Rivae 1870 Zv0 I€T WHeLL L4 WETH
T 1 €9°0 GL0 (G£2) FWLLELOD
T 90 120 2€°0 WGl L7f | WEELLLL0D
Ndu Q eL'e ]1°¢ wog=1 guuL/NgT=}2 & me_.mm%oo
X g €L7% K3 WOFT AL—AACEG | L Reh
KRRy 70 FE5#% T E
T L¥'2 9%°0 S 0 68°0 ¥ & T HH
o 180 1ezo 261 W W | DYSRIHEREGH
f 90 L%0 2g0 JAWRgT=1 00| LEEFE
W07 016 09°0T DRWOOT=Y 0D | LIGIESES
£ & T FEX | E ¥ E % g % ¥ W “w %
g J £ GceggME| €19 00 e Gz 90D
= g ®IF | @TF | @TF | T+ L2 T

EEHLT




BATR L (FEARAMERER)

T i

itk <tik

.

k=

b3

WAL

Y
HIVP ¢ 25

R =L BRA T

$ 85

TSHEFEL

¢ 25

22.40

2T
8 X2+

EY

§ xat

FX F T

I X2+ 2

RUABBEL

b 25

T MC

2 + 3

AR $25 N .
LRy AR | - -
Mg ] } :
waw
o Hivbel1s o p -
WERRAL =T T [ 13
Sirgl F—x
TS w13 6ox24
AT MC
pAYSSTEY L EE ¢ 13 Lo o
WL AR DA AR AR 13
Ay —itelh $13
Al 2 A

36

4651 m

U —

1 Mg

| B

4 IR LN

. l:'
o
fiii 9
it

it




05S°%

o FEED
059°% 059°% (EE 2)
1 £ 1 Liprolt—&—f
T = 1 Te|—F—7
T = T ST [T B HET R
1 [T 1 E1 9 [N4L DN
(O B (I (SL)ET® xwme G —£IH)
9 B 9 S E1 ¢ |:zv=IH
. = T T CT% [ER e
0597 w 0sg'v 1P 1A=
dAIH
£1 ¢ dATH
B ™ | SR | 5% TAE | | ShR | v% | 50 ¥AE | % | 5RE | 5% | © 2
FELY | FEUH g | ‘ BEgUY | W@ Rl il

(ST 9 EoiTY) Btk




